Unique Auctions Catalogue 22 Nov 2017

- 1 4 shelves of assorted picture frames £10.00 £20.00
- 2 A shelf of pottery including Poole and Royal Doulton £10.00 £20.00
- 3 A shelf of glass including old blue and old green medicine bottles £10.00 £20.00
- 4 A shelf of miscellaneous including Ivorex plaques of Lincoln, figurines, clocks, glassware etc £10.00 -£20.00
- 5 2 shelves of kitchenalia £10.00 £20.00
- 6 2 shelves of miscellaneous including vases, figurines etc £10.00 £20.00
- 7 3 shelves of craft items £10.00 £20.00
- 8 4 boxed Arthur Hare mugs, figurines, clock etc £10.00 - £20.00
- 9 2 shelves of tea ware and services including St Michael Harvest, Denby etc £10.00 - £20.00
- 10 A Silver Reed EX30E typewriter and a Silver Reed Silverette II typewriter £10.00 £20.00
- 11 2 shelves of miscellaneous including plaques, garden items etc £10.00 £20.00
- 12 A vintage telephone, pair of Telemax binocular and a mantel clock £10.00 £20.00
- 13 A large Chinese plate and a table lamp £10.00 £20.00
- 14 A quantity of electric items including a steam generator items, digiboxes etc £10.00 £20.00
- 15 A collection of CDs and records including The Ratpack box set £10.00 £20.00
- 16 A box of craft items £10.00 £20.00
- 17 4 shelves of dolls and toys including vintage Kermit, Womble etc £10.00 £20.00
- 18 A box of various wires £10.00 £20.00
- 19 A shelf of wicker ware and wooden trays £10.00 -£20.00
- 20 A shelf of glassware £10.00 £20.00
- 21 2 shelves of kitchen items including a set of The Viking scales and weights £10.00 £20.00
- 22 4 shelves of Christmas decorations and items £10.00 £20.00
- 23 A Sony music centre £10.00 £20.00
- 24 A shelf of pottery and glass £10.00 £20.00
- 25 2 shelves of craft items £10.00 £20.00
- 26 A quantity of silver plate items £10.00 £20.00
- 27 3 shelves of Christmas decorations and items £10.00 £20.00
- 28 A shelf of books £10.00 £20.00

BidMaster Office

- 29 A quantity of terracotta and garden items £10.00 £20.00
- 30 2 shelves of glassware including fruit bowls etc

- £10.00 £20.00
- 31 A quantity of CAC Ceramic China Shirley pattern £10.00 £20.00
- 32 4 shelves of Christmas decorations and items £10.00 £20.00
- 33 A large box of material and wool £10.00 £20.00
- 34 3 shelves of Christmas decorations and items £10.00 £20.00
- 35 A quantity of garden items £10.00 £20.00
- 36 3 shelves of glassware including vases etc £10.00 £20.00
- 37 A shelf of miscellaneous including wooden crocodile, wooden items, coat rack etc £10.00 £20.00
- 38 A Fiamma roll tank £10.00 £20.00
- 39 An old metal corner stand etc £10.00 £20.00
- 40 A good oak sideboard £10.00 £20.00
- 41 A good oak dresser £10.00 £20.00
- 42 A good oak table and 6 chairs £10.00 £20.00
- 43 2 halogen heaters £10.00 £20.00
- 44 2 matching 2 seater settees £10.00 £20.00
- 45 10 full bins of flowers £10.00 £20.00
- 46 A quantity of mirrors £10.00 £20.00
- 47 A quantity of curtains £10.00 £20.00
- 48 A quantity of wooden spindles etc £10.00 £20.00
- 49 A saw bench £10.00 £20.00
- 50 A large quantity of shelving £10.00 £20.00
- 51 A battery charger £10.00 £20.00
- 52 A quantity of old tin figures £10.00 £20.00
- 53 A heavy duty floor cleaner £10.00 £20.00
- 54 A Black and Decker hedge trimmer £10.00 £20.00
- 55 A quantity of chairs £10.00 £20.00
- 56 A TV stand £10.00 £20.00
- 57 A quantity of soup bowls etc £10.00 £20.00
- 58 2 boxes of tools etc £10.00 £20.00
- 59 2 garden teddy bears £10.00 £20.00
- 60 A box of pictures and musical cottages £10.00 £20.00
- 61 A quantity of doll figures etc some a/f £10.00 £20.00
- 62 A box of plate racks £10.00 £20.00
- 63 A box of good clothes etc £10.00 £20.00
- 64 A Kenwood 14000w Vacuum £10.00 £20.00
- An antique corner cupboard £10.00 £20.00
- 66 A retro table £10.00 £20.00
- 67 A quantity of good trays and place mats £10.00 -

1

	£20.00	108	An extension lead and strimmer £10.00 - £20.00
68	A green woollen rug £10.00 - £20.00	109	A Taskmaster fuel heater £10.00 - £20.00
69	A Power Level microwave £10.00 - £20.00	110	A tool box etc £10.00 - £20.00
70	A Hotpoint iced Diamond fridge £10.00 - £20.00	111	A large metal 16 door cabinet £25.00 - £40.00
71	A LEC fridge £10.00 - £20.00	112	A large quantity of sundries, trolleys etc £20.00 -
72	A Incuisine fridge £10.00 - £20.00		£30.00
73	A Co-Op fridge £10.00 - £20.00	113	A tool stool £10.00 - £20.00
74	An old two door cupboards £10.00 - £20.00	114	A quality garden bench £30.00 - £50.00
75	A 2 step, step ladder £10.00 - £20.00	115	A quality garden bench £30.00 - £50.00
76	A quantity of dried flowers £10.00 - £20.00	116	2 mirrors £15.00 - £25.00
77	A quantity of picture frames £10.00 - £20.00	117	A quantity of garden items £10.00 - £20.00
78	A quantity of good mirrors £10.00 - £20.00	118	A stair case metal trolley £10.00 - £20.00
79	A Sharp convection and grill microwave £10.00 -	119	2 bedsides etc £10.00 - £20.00
80	£20.00 A Zanussi front loading washing machine £10.00 -	120	A games table, airer, walking aid etc £10.00 - £20.00
00	£20.00	121	A bamboo table £10.00 - £20.00
81	A Beko fridge freezer £10.00 - £20.00	122	2 single mattresses and 1 base £10.00 - £20.00
82	A quantity of wall mirrors £10.00 - £20.00	123	Pine bunk beds £10.00 - £20.00
83	A BBQ grill £10.00 - £20.00	124	2 wheel barrows including CB equipment £10.00 -
84	An Elan fridge £10.00 - £20.00		£20.00
85	A Logik microwave £10.00 - £20.00	125	2 sets of plastic shelves £10.00 - £20.00
86	A Zannusi freezer £10.00 - £20.00	126	4 old stools £10.00 - £20.00
87	A New World gas cooker £10.00 - £20.00	127	A case of surveying equipment £10.00 - £20.00
88	A Calor gas heater £10.00 - £20.00	128	A quantity of old garden tools £10.00 - £20.00
89	An aluminium step ladder £10.00 - £20.00	129	A large quantity of cases etc £10.00 - £20.00
90	A box of sundries, candles, picture frames etc £10.00 - £20.00	130	2 ironing boards and aluminium ladders £10.00 - £20.00
91	A quantity of pictures of animals £10.00 - £20.00	131	A quantity of wooden items £10.00 - £20.00
92	A box of EPNS, copper etc £10.00 - £20.00	132	A pine corner cupboard £10.00 - £20.00
93	A quantity of mirrors £10.00 - £20.00	133	A pine set of shelves £10.00 - £20.00
94	A garden spray £10.00 - £20.00	134	2 boxes of drinking glasses £10.00 - £20.00
95	An air compressor and spray equipment etc	135	A 3 drawer chest of drawers £10.00 - £20.00
	£10.00 - £20.00	136	2 storage units £10.00 - £20.00
96	An old retro air sprayer £10.00 - £20.00	137	A good 3 drawer chest of drawers £10.00 - £20.00
97	A quantity of new picture frames £10.00 - £20.00	138	A 2 door painted cupboard £10.00 - £20.00
98	A gas fire £10.00 - £20.00	139	A 2 drawer white chest of drawers £10.00 - £20.00
99	2 conservatory chairs £10.00 - £20.00	140	A 3 drawer white chest of drawers £10.00 - £20.00
100	An adding machine and shredder etc £10.00 -	141	A 5 drawer white chest of drawers £10.00 - £20.00
101	£20.00	142	A Technics organ £10.00 - £20.00
101	A large garden urn £10.00 - £20.00	143	A French clock £20.00 - £30.00
102	A quantity of wooden items including chairs £10.00 - £20.00	144	A 2 door bedside £10.00 - £20.00
103	A quantity of terracotta pots £10.00 - £20.00	145	A good water colour dated 1881 £30.00 - £50.00
104	A quantity of garden figures £10.00 - £20.00	146	A metal candlestick etc £10.00 - £20.00
105	A quantity of old chimney pots and plant pots	147	An old Victorian lithograph etc £10.00 - £20.00
	£10.00 - £20.00	148	A quantity of old shades etc £10.00 - £20.00
106	An old garden trunk £10.00 - £20.00	149	A gilt framed oil on canvas of a stag £10.00 - £20.00
107	An old tin cabinet £20.00 - £30.00		22.00

2

150	A Victorian copper warming pan £10.00 - £20.00
151	A granddaughter clock with key and pendulum £10.00 - £20.00
152	2 framed and glazed James McBey etching £10.00 - £20.00
153	A china horse and wooden cart £10.00 - £20.00
154	2 5 drawer modern chest of drawers £10.00 - £20.00
155	A picture of a Japanese Geisha signed and one other watercolour on paper £10.00 - £20.00
156	An Enfield mantel clock with key and pendulum £10.00 - £20.00
157	5 original framed and glazed watercolours including floral and river studies £10.00 - £20.00
158	A silverplate punch bowl, ice bucket, tray, candlestick and door handle £10.00 - £20.00
159	4 handpainted tiles, 5 Greek ? handpainted bowls and 6 miniature German prints £10.00 - £20.00
160	An early metal coat rack featuring birds, a brass peacock letter rack, an old plane, soda syphon and arch clock £10.00 - £20.00
161	5 clown figurines including Casades and 2 large Leonardo examples £10.00 - £20.00
162	A quantity of cutlery including Kings pattern £10.00 - £20.00
163	An album of 78 rpm records including dance and jazz records including Tommy Dorsey, Artie Shaw, Coleman Hawkins, Duke Ellington, Benny Goodman etc £10.00 - £20.00
164	A framed and glazed print September Morning by Victor Elford signed in pencil - approx 100 x 80cm £10.00 - £20.00
165	2 boxes of assorted cards including birthdays, weddings etc £10.00 - £20.00
166	A cheval mirror in oak frame £10.00 - £20.00
167	2 Constable style framed prints £10.00 - £20.00
168	A rectangular mirror with silver surround £10.00 - £20.00
169	Two large European lakes scene print in silver effect frame £10.00 - £20.00
170	2 matching doll prams with 4 dolls £10.00 - £20.00
171	Two framed and glazed windmill prints The Old Mill and Twilight £10.00 - £20.00
172	A James Walker mantel clock a/f with key and pendulum and a Bentima mantel clock with key £10.00 - £20.00
173	3 pieces of silverplate teaware and 4 condiment items £10.00 - £20.00
174	A vintage case £10.00 - £20.00
175	3 amplifiers with cables - Maxwatt, Spider and Rockburn £10.00 - £20.00

	177	A 4 shelf book shelf £10.00 - £20.00
	178	3 mantel clocks including Anniversary £10.00 - £20.00
	179	6 Millers Antiques Price Guides and a Sothebys World Guide to Antique Prices etc £10.00 - £20.00
	180	A Hornby HM 2000 power controller £10.00 - £20.00
	181	A set of 12 Children's Britannicas £10.00 - £20.00
	182	A pie crust top sewing box on legs £10.00 - £20.00
	183	3 wall urn style planters and a conch style planter £10.00 - £20.00
	184	4 John Gould framed and glazed bird prints and 3 other bird prints £10.00 - £20.00
	185	3 Sadler ginger jars, a Sadler biscuit barrel, 2 Mason's dishes, a Poole dolphin etc £10.00 - £20.00
	186	A large quantity of silver plate £10.00 - £20.00
	187	2 barometers including inlaid aneroid £10.00 - £20.00
	188	A vintage white telephone £10.00 - £20.00
	189	An old work box and haberdashery contents and 2 wooden bowls £10.00 - £20.00
	190	2 fire kerbs, brass coal scuttle and fire irons £10.00 - £20.00
	191	3 assorted prints by James Tyler £10.00 - £20.00
	192	3 part tea sets £10.00 - £20.00
	193	An analyst 50-900 microscope £10.00 - £20.00
	194	2 walking sticks with horn handles and writing to stick £10.00 - £20.00
	195	A large straw made bear and a small straw made bear £10.00 - £20.00
	196	A nest of three tables £10.00 - £20.00
	197	A Hendersons Art Deco style mantel clock with key and pendulum £10.00 - £20.00
	198	A Hitachi tape deck, a Hitachi tuner and 2 Hitachi speakers £10.00 - £20.00
	199	A John Letters of Scotland Titanium 460cc 1 Wood with Ping grip £10.00 - £20.00
)	200	A child's vintage snooker table with balls and cues £10.00 - £20.00
ill	201	3 graduated hat boxes £10.00 - £20.00
	202	A stool with cast iron spine legs £10.00 - £20.00
	203	A compressor £10.00 - £20.00
	204	A quantity of brass and metalware including tray, dishes and ladles £10.00 - £20.00
	205	3 trays of door fittings and fixtures £10.00 - £20.00
	206	A wall clock with key and pendulum (face a/f) £10.00 - £20.00
	207	A large rectangular mirror with wood surround £10.00 - £20.00

208 2 Belgian carpet runners with Middle Eastern

BidMaster Office

176

Equestrian, Dressage and Horse related - A collection of 20 books £10.00 - £20.00

3

	patterns £10.00 - £20.00		£20.00
209	2 boxes of handbags £10.00 - £20.00	238	A wooden standard lamp with carved details and
210	A globed topped lamp with metal floral and leaf lamp base £10.00 - £20.00	239	shade £10.00 - £20.00 A pair of drop leaf one drawer tables with leather
211	An old raised brass trivet £10.00 - £20.00		panel tops £10.00 - £20.00
212	A large gil framed and glazed picture of hil and lake scene with sheep farmer £10.00 - £20.00	240	A collection of silhouettes and miniatures £10.00 - £20.00
213	An enamel bread bin, a Radford tea service consisting of 38 pieces, a Jasperware style pot	241	A quantity of metalware including tea light, trivets etc £10.00 - £20.00
	and stand, and a The Boots bedpan £10.00 -	242	A child's school desk and seat £10.00 - £20.00
214	£20.00 An American wall clock with depiction of the	243	A quantity of alcohol including Bells Whisky £10.00 - £20.00
245	Crystal Palace £10.00 - £20.00	244	2 boxes of books including Antiquarian £10.00 -
215	A quantity of collectors spoons £10.00 - £20.00	0.45	£20.00
216	An old coppered fire screen and a raised brass trivet £10.00 - £20.00	245	An ottoman £10.00 - £20.00
217	A long coffee table £10.00 - £20.00	246	A Phillips 4 Track Stereo £10.00 - £20.00
218	A framed and glazed print of a London to Bristol	247 248	A quantity of Carnival Glass £10.00 - £20.00 2 wicker seat bar chairs £10.00 - £20.00
	waggon entitled A Goods Wagon and a London Mail Coach, late 18th C £10.00 - £20.00	249	3 framed and glazed sports related dioramas £10.00 - £20.00
219	A quantity of china including Spode, Colclough, Davenport, Foley, Shelley etc £10.00 - £20.00	250	A two tier metal stand with leaf effect and a tall polyhedron style candle holder £10.00 - £20.00
220	A framed and glazed print by Maurice Utrillo entitled Le Lapin Agile sous le neige £10.00 - £20.00	251	An Royal Albert Old Country Roses coffee set £10.00 - £20.00
221	A Willis and Gambier Lille bedroom chair £10.00 - £20.00	252	A quantity of Second World War memorabilia and related books £10.00 - £20.00
	-		
222	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 -	253	A jug and bowl set featuring a Chaffinch on branch £10.00 - £20.00
222	Approx 300 prints of Lincoln including	253254	, ,
222	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 -	254 255	£10.00 - £20.00
	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one	254 255	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency
223	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00	254 255	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00
223 224	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard,	254255256	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00
223 224 225 226	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00	254 255 256 257	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00
223 224 225 226 227	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00	254 255 256 257 258 259 260	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00
223 224 225 226	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00	254 255 256 257 258 259 260 261	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00
223 224 225 226 227	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set,	254 255 256 257 258 259 260 261 262	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00
223 224 225 226 227 228	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00	254 255 256 257 258 259 260 261	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00
223 224 225 226 227 228 229	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00 A Napoleon hat mantel clock £10.00 - £20.00 An old empty photograph/postcard album £10.00 -	254 255 256 257 258 259 260 261 262 263 264 265	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00 A quantity of old watches £10.00 - £20.00 A cigar cutter £10.00 - £20.00
223 224 225 226 227 228 229 230	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00 A Napoleon hat mantel clock £10.00 - £20.00 An old empty photograph/postcard album £10.00 - £20.00 A Spode Chinese Rose tea/dinner service £10.00 - £20.00 39 volumes of Time Life Second World War books	254 255 256 257 258 259 260 261 262 263 264 265 266	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00 A quantity of old watches £10.00 - £20.00 A cigar cutter £10.00 - £20.00 A quantity of old pencil sharperners £10.00 - £20.00
223 224 225 226 227 228 229 230 231	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00 A Napoleon hat mantel clock £10.00 - £20.00 An old empty photograph/postcard album £10.00 - £20.00 A Spode Chinese Rose tea/dinner service £10.00 - £20.00	254 255 256 257 258 259 260 261 262 263 264 265 266	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00 A quantity of old watches £10.00 - £20.00 A cigar cutter £10.00 - £20.00 A quantity of old pencil sharperners £10.00 - £20.00 A silver bracelet with charms £10.00 - £20.00
223 224 225 226 227 228 229 230 231 232	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00 A Napoleon hat mantel clock £10.00 - £20.00 An old empty photograph/postcard album £10.00 - £20.00 A Spode Chinese Rose tea/dinner service £10.00 - £20.00 39 volumes of Time Life Second World War books £10.00 - £20.00	254 255 256 257 258 259 260 261 262 263 264 265 266 267 268	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00 A quantity of old watches £10.00 - £20.00 A cigar cutter £10.00 - £20.00 A quantity of old pencil sharperners £10.00 - £20.00 A silver bracelet with charms £10.00 - £20.00 A replica flint lock pistol £10.00 - £20.00
223 224 225 226 227 228 229 230 231 232	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00 A Napoleon hat mantel clock £10.00 - £20.00 An old empty photograph/postcard album £10.00 - £20.00 A Spode Chinese Rose tea/dinner service £10.00 - £20.00 39 volumes of Time Life Second World War books £10.00 - £20.00 An old Dell laptop and Dell satchel case £10.00 -	254 255 256 257 258 259 260 261 262 263 264 265 266 267 268 269	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00 A quantity of old watches £10.00 - £20.00 A cigar cutter £10.00 - £20.00 A quantity of old pencil sharperners £10.00 - £20.00 A silver bracelet with charms £10.00 - £20.00 A replica flint lock pistol £10.00 - £20.00 A quantity of bracelets £10.00 - £20.00
223 224 225 226 227 228 229 230 231 232 233	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00 A Napoleon hat mantel clock £10.00 - £20.00 An old empty photograph/postcard album £10.00 - £20.00 A Spode Chinese Rose tea/dinner service £10.00 - £20.00 39 volumes of Time Life Second World War books £10.00 - £20.00 An old Dell laptop and Dell satchel case £10.00 - £20.00	254 255 256 257 258 259 260 261 262 263 264 265 266 267 268 269 270	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00 A quantity of old watches £10.00 - £20.00 A cigar cutter £10.00 - £20.00 A quantity of old pencil sharperners £10.00 - £20.00 A silver bracelet with charms £10.00 - £20.00 A replica flint lock pistol £10.00 - £20.00 A quantity of bracelets £10.00 - £20.00 A quantity of bracelets £10.00 - £20.00 A quantity of bracelets £10.00 - £20.00 A nexcellent box of jewellery £20.00 - £30.00
223 224 225 226 227 228 229 230 231 232 233 234	Approx 300 prints of Lincoln including Featherstone, Robson, Parkman etc £20.00 - £30.00 A Bloom wall facing hide and seek doll and one other wall facing hide and seek doll £10.00 - £20.00 A vintage desk fan £10.00 - £20.00 A oil lamp base £10.00 - £20.00 An Exo Terra reptile incubator (for hatching lizard, tortoise and snake eggs) £10.00 - £20.00 A table with gallery shelf £10.00 - £20.00 Drinks related: a Hine Cognac miniature gift set, an ice bucket etc £10.00 - £20.00 A Napoleon hat mantel clock £10.00 - £20.00 An old empty photograph/postcard album £10.00 - £20.00 A Spode Chinese Rose tea/dinner service £10.00 - £20.00 39 volumes of Time Life Second World War books £10.00 - £20.00 An old Dell laptop and Dell satchel case £10.00 - £20.00 2 table lamps £10.00 - £20.00	254 255 256 257 258 259 260 261 262 263 264 265 266 267 268 269	£10.00 - £20.00 A 3 drawer chest of drawers £10.00 - £20.00 A box of teaware and Chintz including Regency China £10.00 - £20.00 A box of dolls and toys £10.00 - £20.00 A Fisher sewing machine £10.00 - £20.00 A Victorian round tripod table a/f £10.00 - £20.00 A cased sewing machine £10.00 - £20.00 A box of flowers £10.00 - £20.00 A box of old games £10.00 - £20.00 A set of golf clubs £10.00 - £20.00 A quantity of old watches £10.00 - £20.00 A cigar cutter £10.00 - £20.00 A quantity of old pencil sharperners £10.00 - £20.00 A silver bracelet with charms £10.00 - £20.00 A replica flint lock pistol £10.00 - £20.00 A quantity of bracelets £10.00 - £20.00

	£20.00	309	A retro teak sideboard £10.00 - £20.00
273	A quantity of good old watches £25.00 - £40.00	310	A Victorian copper warming pan £10.00 - £20.00
274	3 necklaces and 1 bracelet £10.00 - £20.00	311	A set of golf clubs in bag including Ping £10.00 -
275	A good jewellery box with jewellery music box		£20.00
	£10.00 - £20.00	312	A picture of flowers in gilt frame £10.00 - £20.00
276	A quantity of metal models of holiday destinations £10.00 - £20.00	313	An embroidered picture of girls in garden £10.00 - £20.00
277	An old musical teddy bear £10.00 - £20.00	314	A good selection of cut glass £10.00 - £20.00
278	3 clocks etc £10.00 - £20.00	315	A retro teak desk £10.00 - £20.00
279	An old ArgoFlex camera USA ARGUS £10.00 -	316	An old engraving of a garden party £10.00 - £20.00
000	£20.00	317	A retro teak sideboard £10.00 - £20.00
280	A bird in cage clock £10.00 - £20.00	318	A quantity of wooden items, brass etc £10.00 -
281	6 character jugs including Doulton, Burleighware etc £10.00 - £20.00	040	£20.00
282	A quantity of figures £10.00 - £20.00	319	A retra glazed top side board \$10.00 - £20.00
283	An old Victorian epergne (bowl cracked to side)	320 321	A retro glazed top side board £10.00 - £20.00
	£10.00 - £20.00	322	A good selection of green glass £10.00 - £20.00 A leather coat size 12 £10.00 - £20.00
284	An old Fez hat £10.00 - £20.00	323	A pine mirror £10.00 - £20.00
285	An old oil lamp shade £10.00 - £20.00	324	A Matsui M303 stereo £10.00 - £20.00
286	A box of wine making equipment £10.00 - £20.00	325	A selection of good old pictures including silks
287	A good picture of Concorde with the Red Arrows - all signed £10.00 - £20.00		£10.00 - £20.00
288	A quantity of old bottles and cruets £10.00 - £20.00	326	A long old counter £10.00 - £20.00
289	An interesting selection of old books £10.00 -	327	A quantity of suitcases £10.00 - £20.00
	£20.00	328	A doll and pine doll bunk beds £10.00 - £20.00
290	An old double handled vase £10.00 - £20.00	329	A quantity of silverplate £10.00 - £20.00
291	A selection of good cutlery £10.00 - £20.00	330	A large picture 3 fold screen £10.00 - £20.00
292	6 old bottles of spirits etc £10.00 - £20.00	331	A set of retro scales and a teas maid £10.00 - £20.00
293	An old Victorian sink stamped TC Brown- Westheath £10.00 - £20.00	332	A drawing board and paper cutter £10.00 - £20.00
294	A triple dressing table mirror £10.00 - £20.00	333	A selection of china including Ringtons £10.00 - £20.00
295	A Blackman money box £10.00 - £20.00	334	
296	A bound volume of The Strand magazine Jan-June 1892 including Sherlock Holme stories £10.00 -		A quantity of 45 rpm and LP records £10.00 - £20.00
	£20.00	335	A quantity of framed tea cards £10.00 - £20.00
297	2 good models including Sydney Opera House	336	A quantity of collectors plates £10.00 - £20.00
	£10.00 - £20.00	337	A larg retro teak sideboard £10.00 - £20.00
298	A church collection box and plate £10.00 - £20.00	338	A quantity of art sales books £10.00 - £20.00
299	A quantity of comics £10.00 - £20.00	339	A quantity of linen £10.00 - £20.00
300	A pair of good mahogany bedroom chairs £10.00 - £20.00	340	A quantity of puzzles £10.00 - £20.00
301	A box of 48 good glasses £10.00 - £20.00	341	A quantity of old books £10.00 - £20.00
302	A mahogany TV cabinet £10.00 - £20.00	342	A quantity of dolls £10.00 - £20.00
303	A glazed picture of woodlands £10.00 - £20.00	343	A collection of mixtures \$40.00 - £20.00
304	An old town picture with gate and cathedral view -	344	A selection of pictures £10.00 - £20.00
	with clock in corner £10.00 - £20.00	345	2 shelves of china £10.00 - £20.00
305	A watercolour of an eagle £10.00 - £20.00	346	A good drop front dock with cabriola large \$20.00
306	A print of a young girl £10.00 - £20.00	347	A good drop front desk with cabriole legs £20.00 - £30.00
307	A picture of a ballet class £10.00 - £20.00	348	A large still life picture of flowers £10.00 - £20.00
308	A picture of a girl in garden £10.00 - £20.00		

5

349	A large metal glazed top dresser £25.00 - £40.00	390	2 old religious pictures £10.00 - £20.00
350	A quantity of collectors plates £10.00 - £20.00	391	A china tea set £10.00 - £20.00
351	2 shelves of china £10.00 - £20.00	392	A quantity of metal items £10.00 - £20.00
352	1 tapestry etc £10.00 - £20.00	393	5 old bottles of wine £10.00 - £20.00
353	A quantity of jewellery and other boxes £10.00 - £20.00	394	A Chinese painting of leaves and 1 other item £10.00 - £20.00
354	2 hanging lights £10.00 - £20.00	395	A quantity of silverplate £10.00 - £20.00
355	A rocking chair and matching stool £10.00 - £20.00	396	2 small mirrors £10.00 - £20.00
356	A drop front mahogany sideboard £10.00 - £20.00	397	An old mahogany side table £10.00 - £20.00
357	A collection of books including Living Countryside collection £10.00 - £20.00	398	A wooden Father Christmas Russian doll set £10.00 - £20.00
358	An Edwardian mahogany dresser £10.00 - £20.00	399	A large quantity of new red and white kitchenware
359	2 standard lamps £10.00 - £20.00		£30.00 - £50.00
360	A mahogany glazed dresser £10.00 - £20.00	400	An old china pedestal £10.00 - £20.00
361	A selection of war books £10.00 - £20.00	401	A good chrome lamp £20.00 - £30.00
362	A metal table and 2 chairs £10.00 - £20.00	402	A box of old photographs £10.00 - £20.00
363	A box of books including WW2 and military	403	3 good Victorian mahogany chairs £30.00 - £40.00
364	£10.00 - £20.00 A box of Disney, Beano and other books £10.00 -	404	2 Egyptian items and 2 Egyptian watercolours £10.00 - £20.00
	£20.00	405	A quantity of silverplate £10.00 - £20.00
365	A Bernina sewing machine £10.00 - £20.00	406	A large quantity of red and white kitchenware
366	A box of WW2 and military books £10.00 - £20.00		£30.00 - £50.00
367	A good box of brassware £15.00 - £25.00	407	A box of stamps, albums, stock books etc £20.00 - £30.00
368	A box of 7 oval picture frames £10.00 - £20.00	408	
369	A selection of books £10.00 - £20.00	400	A retro TV table by Chippy Heath furniture £20.00 - £30.00
370	2 old copper buckets £10.00 - £20.00	409	An old wool carpet £10.00 - £20.00
371	An old coloured pouffe £10.00 - £20.00	410	A rocking chair and matching stool £10.00 - £20.00
372	Old brass scuttles etc £10.00 - £20.00	411	A brass top table £15.00 - £25.00
373	A 2 door and 2 drawer oak cabinet £10.00 - £20.00	412	A copper top table £25.00 - £35.00
374	A good electric fire £10.00 - £20.00	413	A teak table and 6 chairs £35.00 - £50.00
375	A drop leaf trolley £10.00 - £20.00	414	A 1950s display cabinet £10.00 - £20.00
376	2 small jewellery mannequins and other figures	415	A set of 6 bowed chairs £15.00 - £25.00
	£10.00 - £20.00	416	A set of 4 good mahogany chairs £10.00 - £20.00
377	A quantity of flowered china £10.00 - £20.00	417	An old wool carpet £10.00 - £20.00
378	A white jardiniere on stand £10.00 - £20.00	418	3 tables £10.00 - £20.00
379	A supportitue of a mala raido and a lathese CAO OO COO OO		
380	A quantity of embroidered clothes £10.00 - £20.00		An old glassed cabinet £10.00 - £20.00
	A quantity of embroidered clothes £10.00 - £20.00 A quantity of Victorian red and green glass etc £10.00 - £20.00	419 420	An old glassed cabinet £10.00 - £20.00 2 Clair Davis prints £10.00 - £20.00
381	A quantity of Victorian red and green glass etc	419 420 421	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00
381 382	A quantity of Victorian red and green glass etc £10.00 - £20.00	419 420 421 422	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00 A large china doll £10.00 - £20.00
	A quantity of Victorian red and green glass etc £10.00 - £20.00 A Victorian oil lamp £10.00 - £20.00	419 420 421	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00 A large china doll £10.00 - £20.00 An oak hall stand £10.00 - £20.00
382	A quantity of Victorian red and green glass etc £10.00 - £20.00 A Victorian oil lamp £10.00 - £20.00 A concrete horses head £10.00 - £20.00	419 420 421 422	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00 A large china doll £10.00 - £20.00
382 383	A quantity of Victorian red and green glass etc £10.00 - £20.00 A Victorian oil lamp £10.00 - £20.00 A concrete horses head £10.00 - £20.00 A quantity of cameras £10.00 - £20.00	419 420 421 422 423	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00 A large china doll £10.00 - £20.00 An oak hall stand £10.00 - £20.00
382 383 384	A quantity of Victorian red and green glass etc £10.00 - £20.00 A Victorian oil lamp £10.00 - £20.00 A concrete horses head £10.00 - £20.00 A quantity of cameras £10.00 - £20.00 An unusual 2 prong candlestick £10.00 - £20.00	419 420 421 422 423 424	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00 A large china doll £10.00 - £20.00 An oak hall stand £10.00 - £20.00 A 2 drawer chest £10.00 - £20.00
382 383 384 385 386 387	A quantity of Victorian red and green glass etc £10.00 - £20.00 A Victorian oil lamp £10.00 - £20.00 A concrete horses head £10.00 - £20.00 A quantity of cameras £10.00 - £20.00 An unusual 2 prong candlestick £10.00 - £20.00 An old advertising framed poster £10.00 - £20.00 A good piano stool £10.00 - £20.00 Glass decanters and other glass £10.00 - £20.00	419 420 421 422 423 424 425	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00 A large china doll £10.00 - £20.00 An oak hall stand £10.00 - £20.00 A 2 drawer chest £10.00 - £20.00 An oil on canvas £10.00 - £20.00
382 383 384 385 386	A quantity of Victorian red and green glass etc £10.00 - £20.00 A Victorian oil lamp £10.00 - £20.00 A concrete horses head £10.00 - £20.00 A quantity of cameras £10.00 - £20.00 An unusual 2 prong candlestick £10.00 - £20.00 An old advertising framed poster £10.00 - £20.00 A good piano stool £10.00 - £20.00	419 420 421 422 423 424 425 426	2 Clair Davis prints £10.00 - £20.00 A wing arm chair £10.00 - £20.00 A large china doll £10.00 - £20.00 An oak hall stand £10.00 - £20.00 A 2 drawer chest £10.00 - £20.00 An oil on canvas £10.00 - £20.00 A 5 drawer chest £10.00 - £20.00 A large print of Fisherman on River bearing the

- 430 A large box of craft items £20.00 £30.00
- 431 A large box of craft items £20.00 £30.00
- 432 A 3 seater sofa and chair £40.00 £60.00
- 433 A 3 piece suite £50.00 £60.00
- 434 A 1930s desk with Queen Anne legs £35.00 £50.00
- 435 A 1930s desk with Queen Anne legs £35.00 £50.00